1+ Which of the following pairs is 1. frafafed o § @ SH-1 ¥ iRy
€orrectly matched? 27
Nobel Prize Winner  Area of me RS
(2022) Prize | (2022) a=
[A] sv t A4 — Physics . '
[ ante Padbo y (A] = e _ iR
B] Alain A t — Chemistry
! e [B] T @R — TERH
C] Morten Meldal — Economic
Sciences [C] W Teead —  anfdfes g
[D] Annie Ernaux — Literature [D] Th T — wife
2. In which of the following cities was 2. T 4 @ form wee # 20 389, 2023 %)
the Global Buddhist Summit held I AfFee dig Rret aWiem gy
on 20th April, 2023? B3 AT?
gﬁ@ ‘[ ] .
[B] Kathmandu @"5;% [B] wIeHTg
[C] Kuala Lumpur [C] 3T A
[D] Jakarta [D] Swbrat
3. Which of the following countries 3. Tm=fafea & & fva wse & g, 2023
has awarded the highest civilian WW@W 1 I % ONH
award ‘The Grand Order of the - ?aa—ﬁ\_ﬁ - = aiidc o
Chain of Yellow Star’ to the 3? L e
President of India during her visit g = A1 I = § wEa fwen
in 20237 | y e
[A] Egypt ... 2 [a] T
[B] Malaysia 8 [B] WeRwm
[C] Indonesia : O J€] ECEINRI]
[D] Surinam T | [D] &
_.4. Who is.the author.of the book The 4. The Coalition Years gﬁaﬁai AGH B
\\\\\ ) Qqqllﬁo_n Years’P e 87
[A] Shash1 Tha:roor £ [A] T U
[B] Pranab Mukhéfje‘e‘ e [B] WU @it
[C] Ravi Mathur [c] e AT
[D] M. M. Singh [D] Wo T, &8
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5. With reference to the North
Atlantic Treaty Organization
(NATO), which of the following
statements is/are correct?

I. It has 42 member nations.

II. Its Headquarters is located at
Brussels.

Select the correct answer from the
options given below :

[A] Only I
[B] Only II l@g@
[C] Both I and II &); g

[D] Neither I nor II

6. With reference to G20 (Group of 20),

which of the following statements
is/are correct?

I. India took over the G20
presidency from Australia on
1st December, 2022.

II. The first G20 Summit was held
in Washington in 2008.

Select the correct answer usiﬁjg
the options given below :

[A] Only I

[B] Only II

[C] Both I and II
[D] Neither I nor II

oooc»»

7. Which of the following Articles of

the Constitution of India talks
about the Uniform Civil Code (UCC)?

[A] Article 43
[B] Article 44
[C] Article 45
[D] Article 46

8. In 2023, which US State recently

3-B

declared holiday in public schools
on the festival of Diwali?

[A] Los Angeles
[B] Boston
[C] Jersey
[D] New York

5. aql JRdies WM WIS (NATO) %
gef , Frfefad Fol 3 @ B/
T 3/87

[ 3@ gmed § 42 U wee §)

11, 36 TEAT gHeH # Sl R
3 fog m ferehedt A @ W I 1 =
HIRMT :

[A] et

[B] e II

[C] T I 3

[D] A ISR AE I

6. G20 ¥ wed #, Frfia w4 @
SiH-T1/a T 8/3?

1. 1R, 2022 F KA A Ao
¥ goeh] eIl T W |

II. G20 1 geen R e 2008 &
TIfFTE | Eoad g3 ol

= fom e fereedt & @ Wl ST BT =

s

[A] S

[B] ¥ I

[C] 1Td II g

[D] AR ISR I

7. T G 1 H-E1 SR, T
ot wigen (UCC) Y & ol & 7
[A] 3R 43 -

[B] 1T 44
[C] TG 45
[D] DT 46

8. 2023 #, g T~ et & Fre T=a
3 e € o T Tpelt # uraeh o fed
JraeHTe s Hwo i fty
[A] @E e
[B] ®i&A
[C] St
D] =EH

[P.T.O:




10.

11.

12.

13.
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- Which of the following pairs is

correctly matched?
Name of Padma
Shri Recipients
[A] Shri Anand Kumar—
Science and Engineering
(B] Shri Moolchand Lodha —
Literature and Education
[C] Shri Janum Singh Soy —
Public Affairs
[D] Shri P. Kalyansundaram —
Social Work

Area of
Award

In which of the following States has
the world’s largest railway platform
been inaugurated?

[A] Karnataka

[B] Madhya Pradesh
[C] Rajasthan

[D] Delhi

Who was the Chief Guest for the
Republic Day in 20237

[A] President of Afghanistan
[B] President of Egypt

[C] President of UAE

[D] President of Indonesia

The Indian Government has
launched a rescue operation in
Sudan to evacuate its stranded
citizens. This operation is known as

[A] Operation Devi Shakti
[B] Operation Ganga
[C] Operation Addis Ababa
[D] Operation Kaveri

Which architect has designed the
new building of the Indian
Parliament?

[A] Ravi Modi

[B] Bimal Roy

[C] Bimal Patel

[D] D. Radhakrishnan

9.

F«« D00 -

11.

12.

freferfen gl § @ S-91 wét gify
37
ugrsh wEEdl  JOEER @ A
[A] #t < FAR —

o 3 afwnfye
[B] #t g el — e qem frey
] st Sm g da—arEste T
[D] #t R, Fearrgem™ — aHIRGE Hrf

. Frefofes 3 @ form oo 4 fav % vl

o3 I wewd 1 IgETe TR T 27
[A] Fieh

[B] Hea ot

[C] Ty

[D] fewedt

= & & <4, s % s R 2023
q 7 Al 97

[A] EMEH % Tsgafy

[B] frsr % wegmfy

(C] ¥gW s Fmfira gt

[D] SRR 3 Ty

e T G Y WA AR % Frgwo
%gmmmmaﬂmmw
Tora T o) 58 SRR 5 A o

[A] HATRIA &t wifkp

[B] SATRIM T

- [C] TRIA 3nfeq ramar

13.

[D] ATRI HE
m@am%q&mﬁﬁwm%
fesre fopam e

[A] T 9

[B] fower g

[C] Tower ww

[D] Eto THFSIH
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14. Which of the following statements

15.

16.
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is/are true about Coalition for
Disaster Resilient Infrastructure
(CDRI)?

&

1. India is a member of CDRI. 2
-~

II. It is a UN agency. O

III. Its headquarters is locatedgn
Paris. 0

IV. It was launched during G20
Summit, 2023.

Select the correct answer from the
options given below :

[A] Only I
[B] Only I and II
[C] Only I, IIl and IV

(D] I, II, Il and IV
g

Agricultural drought is deﬁnelg]'aEsI

[A] uneven distribution of rainfall
over time and place

[B] low soil moisture

[C] inadequate rainfall of 30 percent
or more in cropped areas

[D] the lack of water supply in
water storage reservoir which
can be compensated by normal
rainfall

Indian National Centre for Ocean
Information Services is located in
which of the following cities?

[A] Mumbai
[B] Delhi
[C] Kolkata

[D] Hyderabad

1a. P & & amoer ST afEd B

15.

16.

¥ Ry TasHd (CDRI) % R # -1
o wé /87
| YRd CDRI %l #GH &
1. 78 T UN Tl &
111, FEeR AT A H SR 2

[v. sah! JEAM G20 ®fWE, 2023 §

[A] e

[B] Fae 13 II

[C] et I, 111 3R IV
[D] I, II, I @& IV

g;ferg_@ﬁtr&mﬁa%mm%

[A] TEf T T % g § Nl
w1 forem ferawor

[B] = & S

[C] 30 a1 3a@ e SoRte =i
&1 wEel & & B

[D] el GE WeR § Femgfd § Jeieh

et B o amr awt & qu e
Eik:c]

Frafafaa & @ fore et & wrdle T
HEMETR YT a1 5, FoId 37

[A] g
[B] fewedt
[C] hicThTaT

[D] FeeTg




17. WhiCh of the

18,

19.

20.
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following Statements

ar
€ correct regarding Yaya Tso

Lake?
I.

It is located in Ladakh.
I1.

It is Ladakh’s first

under the Biolo
Act.

heritage site
gical Diversity

L. 1t is also known as bird’s

paradise,
IV. 1t is fed by Sutlej river.

Selgct the correct answer from the
Options given below :

[A] T and I only
[B] L, I and v only
[C] T, I and 111 only
[D] I, I1, TI and IV

The Lakdawala Committee
is related to

(1993)
[A] income inequality

[B] poverty estimation

[C] inter-State relation

[D] biodiversity conservation

The Universal Declaration of
Human Rights, adopted by UN
General Assembly, does not include
which of the following?

[A] Dignity, Liberty and Equality
[B] Right to Life

[C] Freedom of Adequate Standard
of Living

[D] Right to Universal Basic Income

Which of the following is not
considered a subsidy box for
agriculture in WTO?

[A] Green box subsidy
[B] Amber box subsidy
[C] Red box subsidy

[D] White box subsidy

17. = 3wt & v F ey

HF«« OO0

=
=

[3
(3 -

18.

19.

20.

oy

o A 7 Ay

I. I8 werE ¥ R )

I1. % St ferfeere snfefoems 35 e o
61 W T o R

L. 58 9 1wt oft st omar 3
IV. g gaers T & gro R )

A fow u forehedt % @ W@ s T
Hifre -

[A] el 1 W6 1T

[B] %ae I, 1 T8 3R IV
[C] & I, 1 T 11T
[D] I, I, I €& IV

SehgETeT afify (1993) geftm 2
[A] 3 fowean &

[B] st e @

[C] =T gy @

[D] Stafafaerar weor &

HIH Y HEREMT G HAETE T TS
R =ht v e § et
T | H-|1 i T 27

 [A] M, ST T W

[B] Sftem =1 arfteR

[C] 39FTH Site AT T <hl Tl
[D] ETE MU 3 1 IARHR
WTO 3T, Ftifera & & a1 3TeH
i % &9 1 forem T 5 s g2
[A] #F Sie IHIH

[B] TR 9 A

[C] & Wi IeH

[D] &T§e ST STEH
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21. Which of the following statements

22.

23.

24,
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is/are true for alluvial soil?

I. Its sand content decreases
from west to east.

II. They are in the form of
Bhangar and Khadar.

III. This soil covers about 40 percent
of the total area of the country.

IV. This soil is rich in potash and
poor in phosphorus.

Select the correct answer from the
options given below :

[A] I only

[B] I and II only
[C] I, II and III only
[D] L II, IIT and IV

PM KUSUM Scheme is related to
[A] agricultural solar pump system
[B] electrical vehicle subsidy

[C] semi-conductor sector

[D] fertilizer sector

Labour force participation rate is
defined as the

[A] ratio of unemployed population
to work force

[B] ratio of employed and willing to
work to working age population

[C] ratio of employed to
unemployed population

[D] ratio of work force to working
age population excluding
disguised unemployment

World Social Security Report is
released by which of the following?
[A] World Bank

[B] UN Women Commission

[C] ILO

[D] UN Human Rights Commission

21.

e« I0077

EIAE
=58,

23.

24,

e gt & gedf #, Frafafaa 4 @
Fe-T1/a e wE 2/R?
1. v X 1 Ao A & AR
 wed R
1I. awwﬁéﬁ%
1. 3757 2 ¥ e TR 1 40
faem 21
1v. 79 figh § diem R A s o
I 1 T B 3

# fau o faewedt § B W@ IW H TH
Hifsm

[A] FaA

[B] %ot 1TE II

[C] el I, 1T II -
[D] I, II, I W& IV

o gA i detd 8
[A] B HE T7 e |

' [B] T @ 3EEH &

[C] ¥t et & A
[D] St & °
@lﬁﬁmaiﬁ%amﬁm

e ST 87
[A] SUSATR e % Sf gefE w5

FJgoa
[B] Friifsd wd Friee % Fog® I
Frisfier 1Y SHEE % Wfd A
() PR T A i 1 g
[D] Yeod ST 1 BIgH, HAANH
T FReior 311 5 <6 EE T S
foreg wmfores geen R, frmifeea & &
fres gu I S R? -
a] feads
[B] UN #fea 3
[€] ILO o tohiir sl o - -
(D] UN iR

[P.T.O.




25. Which of the following statements
are correct regarding Kharai
camels?

I. It is a rare camel breed found
in Ladakh.

II. Their name is derived from the
local word ‘Khara’ meaning
saline. '

III. They swim long distance in sea
to reach their grazing areas.

IV. They were anciently used in
the ‘Silk Route’ areas.

a Select the correct answer from the

[ options given below :

O [A] I and III only

E[B] 11 and III only

[C] T and IV only

[D] 1, II, I1I and IV

[ =y

26. Which of the following statements
is/are correct regarding Gini
coefficient? R

I. It measures the level of income
inequality in the society.
II. Higher the Gini coefficient,
EE lower the inequality.
EEE 1. It can be derived .using the
Lorenz curve.
Select the correct answer from the
options given below :
[A] T only
[B] I and III only
[C] I and II only

[D] II and III only

27. Where 1is Dibru
Biosphere Reserve located?

[A] Arunachal Pradesh
[B] Assam

[C] Manipur

[D] Sikkim

28. Earth Overshoot Day is related to
[A] environmental degradation
[B] overheating of troposphere

[C] melting of glacier due to
intense sun rays

[D] geomagnetism

3-B

Saikhowa

B

25. 7 & @ F-8 HU, @0 I % guy
o ad g7
I T€ W@ H Al AW A gy e
e B
II. 391 9 T o @R Ry
aref T BT 7, ¥ o9 Ry
LI 3T SIRATTE o T5H o o1 3 g
i wwht gft 7% Rd B
IV. SfiA a9 8§ $HehT ST Riesh w2
&= | grar | .
= fow o fywedt & A wft I F
Hifd
[A] %ae 1Td III
(B] el II W& 111
[C] Sad 1TH IV
[D] I, II, Il @& IV
26. firi % "ol # f=ferfaa o 3
HH-T1/Q FYT a8 2/37?
I. 98 U H 7 % IFEIHT $ &R
I {91 21
11. it wqores e sres g, smmmar
a1 S B
1. I8 TR~ 5 o TANT & oFeqs fobay
7T 21
= fou U et § & w@ S W =
Hifre
[A] Sae
[B] %eie 1 TS III
[C] A I W& I
[D] %l 11 TS 111
27. o5 deim Sa sum, i #  waf R 2
[A] TETES T
[B] Jr&H
[C] wfrg
[D] fafwey
28. ¥ Moy fesw waftg 2
[A] WRTERT &0 §
[B] THIEAIR =1 srefres T 21 §
[C] 3@@%&%@%%%@%

[D] Y-F=ihea &

=
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29. At which of the following Inqus
Valley sites was a terracottg replica
relating to exploration of g plough

discovered?
[A] Dholavira
[B] Kalibangan

[C] Rakhigarhi

1111882

[D] Banawali

(]
o

. In which district of Jharkhand is
the neolithic archaeological site
Barudih located?

[A] Hazaribagh

[B] Simdega

S««Ooon

[C] Jamtara

[D] None of the above

31. Which one of the following
administrative structures

in
ascending order is correct?

5%

N [A] Dronamukha, Sthaniya,
Samgrahana, Karvatika

[B] Sthaniya, Karvatika,
Dronamukha, Samgarhana

[C] Sthaniya, Dronamukha,
Karvatika, Samgarhana

[D] Sthaniya, Dronamukha,
Samgarhana, Karvatika

32. Prabhavati Gupta was the ruler of
[A] Gupta Dynasty
[B] Sunga Dynasty
" [C] Vakataka Dynasty

[D] Maukhari Dynasty
3-B

-——A

20) freffad 3 & fra Ry oéd w@ W,
et o sl 2R A o e

[A] ST
[B] HIEHeH
[C] Tt
[D] STt

30. TSI QUEU GEETE, HEUS o foh
fadfeair ~
(A] TSI
(B] femem
[C] TSt
.[D] Swit # & H1S T

31. e § § #-d wemafie ww,
SGELER:E
[A] RUigE, T, e, H-aT
[B] writ, Hi-arieshr, S, Hrew
(C] eI, S, e, Hrn
(D] wiFha, Ao, de, AR

32. WTE T e off
(A] T8 H
[B] ST
(C] aTehies 5 hl
[D] TEd st

[P.T.O.
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33. The Sangam text Tolkappiyam is a 33. W UY ArerenioEs’ wf ?
work on I el T
[A] astronomy [A]. ®
[B] grammar [B] SATRIT WX
[C] music (€] afid ©
[D] medicine [D] fafehrear w

34. Who was responsible for the smooth 34. Tl HIHEGR SHaEAT & YATE GeloM &
functlomng of the Mughal mqﬁqmw 2
Mansabdari' system? o
[A] Vakil L [A] S
[B] Wazir : [B] it

O
[C] Mir Bakshi O [C] HR et
' ol O -

[D] Sadr s [D] &g

35. During the Mughal period, the 3 oH, fUse sETse

. 5 ’ 5. A
coins minted during the previous i 2N %& 5’ %5
reign were called : mm REEE
[A] Khajana [A] @S
[B] Chalni , [B] =Tet
[C] Mohur g& [C] F=T
. E:E

[D] Bikha [D] feran

36. The capital of Vijaynagar Empire 6 ﬁw TS 6} et
was situated on the bank of which A R off e %H :‘?ﬁ %
river? ?1?.’ W ?
[A] Tungabhadra [A] EI”’W
[B] Narmada [B] Ter
[C] Godavari [C] TeEd

3-B : 10
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. Which of the following j
correctly matched? w5 .

Building Builder
[A] Lal Mahal — Balban
[B] Hindola Mahal— Hoshang
Shah
[C] Jahaz Mahal — Ghiyasuddin
Khilji

[D] Lal Darwaja — Bibi Raje
Mosque

. Who among the following is not

. a
painter of Jahangir’s period? M
2
[A] Mansur 2
|
[B] Manohar 0
O
|

[C] Khwaja Abdus Samad

[D] Abul Hasan

. Which Congress Session passed
the resolution of Fundamental
Rights in 19317

[A] Allahabad

[B] Karachi

: OF
[C] Mumbai %
[D] Gaya

. Who among the following said “The
Ryotwari is a system which has
always prevailed in India”?

[A] John Shore
[B] Alexander Duff
[C] Captain Reed

[D] Thomas Munro

11

37. ﬁw%ﬁaﬂﬁéaﬁqvﬂgﬁ%ﬂ?ﬁ%?

THRA fmtureRat
(A] O WS — SIS
(B] Reen weet — ERAE
(C] Ve Heel  — g Reww
[D] &Mt &N — ieft T
afesrg
38, T d F1 TRAR % T T TR A
27
[A] H
[B] TS

[C] & AsqH 9

[D] g &8

39, 1031 %o 7, ®PE ¥ fa sifteww ¥
it AfesRT w1 ST qIid g3t ?

[A] TATRIEIG
[B] Ui
[C] T3

[D] T

40. TrfaRaa § & e a1 o Il T
el e & S Wa # g @ Eierd
w 8?

[A] ST R

[B] ISt 6
[C] HHH/FA {e
[D] umE T

[P.T.O.



41.

42.

43.

44,
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With " which of the following
newspapers was Gandhiji not
associated?

[A] Young India
[B] Indian Mirror
(C] Harijan

[D] Indian Opinion

The Treaty of Amirtsar was
concluded between Maharaja Ranjit
Singh and

[A] Lord Cornwallis
[B] Lord Dalhousie
[C] Lord Hastings
[D] Lord Minto

Which of the following books has
not been written by Dr. Ambedkar?

[A] Thoughts on Pakistan
[B] Annihilation of Caste

[C] The Problem of Rupee : Its Origin
and Its Solution

[D] Servants of India

Consider the following statements;

I. The latitudinal and longitudinal
extent of mainland India is
around -30°.

II. From Gujarat to Arunachal
Pradesh, there is a time lag of
two and half hours.

III.
Meridian of India.

IV. Time along the Standard
Meridian is taken as the
standard time for India.

Select the correct answer from the
options given below :

[A] I-True, II-False, IlI-False, IV-True
[B] I-True, II-False, III-True, IV-True
[C] I-True, II-True, II-True, IV-False
[D] I-False, II-True, IlI-False, IV-True

The 82°30’E is the Standard

12

41.

42.

Huw« OO0

43.

e
E%is

44,

B

o o @ fohe HER T W e e
Hafta 7@ 97

[A] Young India

[B] Indian Mirror

[C] Harijan

[D] Indian Opinion

IAET 1w HERST WSt g s
% o= 99 gl

[A] € HHaTE

[B] WfE SRSt

[Cc] @ 3w

[D] @Te fiwa

Frferiad § & wH- gee ol e
BRI foreht ¢ R 7 |
[A] Thoughts on Pakistan

[B] Annihilation of Caste

[C] The Problem of Rupee : Its Origin
and Its Solution

[D] Servants of India
FrafeRaa TRt W foem =t
1. g ARA 1 ST 3R
foream s 30° B

1. TS & &0 TeW % 99 o
U T R 2|

III. 82°30" Yo WA ! HIeh SR 1T
H

IV. A <M T&T % 99 ! 9Rd &
ToTe ATk wHg 9T S R

= feu Tu forredt § & w3 B W=
i

[A] 19, [1-39cd, (-39, V-8
[B] 1-Hed, II-39c, -9, V-9
[C] 19, 116, M-8, [V-37ac
[D] 1-318ed, 11-6c, [I-376c, V-8
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45.

46.

47.

Which of the following statements
are true?

I. . The Tropic of Cancer divides
India into two halves,.

1I. The Tropic' of Cancer divides
Indian International boundary
into two halves.

II. Maximum East-West expansion

of India lies along the Tropic of
Cancer.

IV. Line joining the easternmost
and westernmost points of
India lies to the north of the
Tropic of Cancer.

Select the correct answer from the
options given below :

[A] Iand I
(B] Il and IV
[C] 1l and III

E‘ 3
D] I and IV o Lk
(D] Egl%

Which of the following Indian States

shares its boundary with Bangladeshy
and Myanmar?

[A] Nagaland
[B] Tripura

mi{m{mim] g

[C] Mizoram

[D] Manipur

From north to south, Western

Ghats are locally known as

[A] Sahyadri-Nilgiri-Anaimalai-
Cardamom Hills

[B] Sahyadri-Anaimalai-Nilgiri-
Cardamom Hills

[C] Nilgiri-Sahyadri-Cardamom
Hills-Anaimalai

[D] Sahyadri-Nilgiri-Cardamom
Hills-Anaimalai

13

45, fm i & A Fo T R

46.

47.

11, 9 T IR o SIS i Gt
i ) faea # sfed 2

I1I. Wﬁqﬁ‘wﬁa" e for
=% Y@ ¥ qg-ar

v, Wi i v g S wEE iR
figail 1 STg3 aeft Y 4 e %
IR § fod 2l

= fow o forpedl ® @ W ST HT T
Hifsr :
[A] 1311

[B] I 3K IV
[C] 13K I
[D] 13K IV

frffiag § & $H-T1 T, SERH
3 TEER 3 T HE HI ST 37

[A] AT
[B] frgu

[C] TSt
[D] ot

I & gfeor, ufdndt wrel i v St wm

ST ST &

[A] FEATlg-ii-—srmes-—rend
Teew
[B] HEAIG—ITHATS— i —hTerH
5
[c] Faft-venfyFdm few-
CEILTIH
[D] Teafg-fefti-srdmm feea—
STHATHATS

[P.T.O.
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49,

S0.

Which -of the following rivers does
not drain into Arabian sea?

[A] Krishna

[B] Sabarmati

[C] Tapi

[D] Narmada

Mango showers are common
pPhenomena in which States of India?

[A] Uttar Pradesh and Madhya
Pradesh

[B] Madhya Pradesh and Karnataka
[C] Uttar Pradesh and Tamil Nadu
[D] Kerala and Karnataka
Which of the following statements
are true?
. Bajra is sown in hot and dry
climatic conditions of western

and central parts of India.

II. It is a hardy crop which can
resist frequent dry spells.

III. Being a rainfed crop, the yield
of this crop is low in Rajasthan.

IV. Rajasthan
production.

leads in its

Choose the correct answer from
the options given below :

[A] Tand II

[B] II and III

[C] IIT and IV

[D] I and IV

3

48. fmafafea & @ SR- 7§ 3rw www 3
& it B2

[A] o
[B] ETEHd
[C] ardt
[D] ey

49. 3THEN, YR o ot T o | we 37
[A] ST ¥CN T 7 We

[B] WET WSW UH HACH

[C] I W TF AfierTg

[D] A T FHAEH

B
]

50. f=fefad & @ ®H-2 a7 w7
. 9Rd & ufgadt 3 wey vt &
3R Y Jearg Wi o e A
S 21

II. I& U H3R HOA 8, 9 IR-aR F
I SR & e weman 21

III. S S8 BN % HRYT, TR §
TEh! ITEHAT HY B

IV. TSRYH 36 3care o st 3|
Frefefaa fompedt # & wft s = -
[A] 13RI
[B] II 3R III

H««DOOOOoo

[C] I 3R IV

[D] 13RIV
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51.

52.

53.

"increasing

3-B

The dryland farrning in India j
1argely confined to the regio s
having annual rainfa]) of srons

[A] less than 25 cm
[B] less than 50 cm
[C] less than 75cm

[D] less than 100 cm

As per 2011 Census, inter-state
female migration by place of last
residence in India followed the
sequence of

[A] Rural to Urban-Urban to Rural-
Urban to Urban—Rural to Rural

[B] Urban to Rural-Urban to Urban-
Rural to Urban—Rural to Rural

[C] Rural to Rural-Rural to Urban—
Urban to Rural-Urban to Urban

[D] Urban to Urban—Rural to Urban—
Rural to Rural-Urban to Rural

On the basis of population size,
which of the following is the
order of wurban

agglomerations?

[A] Chennai-Bengaluru—
Ahmedabad-Hyderabad

[B] Bengaluru-Hyderabad- '
Ahmedabad-Chennai

[C] Ahmedabad-Hyderabad— '
Bengaluru-Chennai

[D] Hyderabad—Chennai—Bengaluru—
Ahmedabad

15

S1.

52.

=]
b o1
EE

53.

S« «OOO0O

T e S TR T o R R R

< 2, el ks i

[A] 2588 FA &
(B] 50 4. % A &
[C] 75 @M. AFA D

(D] 100 & & &7 A

2011 SFITUFT & STHER, WRA § wfgerait
T AU JaE, RS ST T
& g e e | 2

[A] TiE | IELIE H M-I ¥ M-
T § i

[B] Y& & M-I § ARG & Mot
Tite | e

[C] Tifa & TMe-TT ¥ M-I & ia-
Y& | &

[D] ¥ ¥ VI § eI § e
I I T

SAEE BN amm ® = 79
T T HFeH T ARG 560 &7
[A] SE-STE-STEHeINTE-2atTe
[B] ST®-ReTaTe-STavgTaTE-=we
[C] STRHETaTE-ReUsTe-Tepe-—<we
[D] FeTETE-=aE-HTee-3TeHeTTe

[P.T.O.
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4. The “wProvision
-Commission in Indian Constitution

56.

57.

3-B

for Election

was inspired by which of the
following countries?

[A] Ireland
[B] United Kingdom (U.K.)
[C] United States of America (U.S.A.)

[D] None of the above

Under which Article of the Indian
Constitution, can the Rajya Sabha
authorize the Parliament to legislate
on a State subject by 2/3rd majority?

[A] Article 249
[B] Article 243
[C] Article 259
[D] Article 250

Which Article of the Indian
Constitution says that Directive
Principles of State Policy are not
enforceable by any court?

[A] Article 39
[B] Article 38
[C] Article 36

[D] Article 37

Under which Amendment Act was
the reservation in promotion for the
Scheduled Castes and Scheduled
Tribes ensured by inserting Clause
‘4A’ in Article 167

[A] 75th Amendment Act, 1994
[B] 76th Amendment Act, 1994
[C] 77th Amendment Act, 1995
(

D] 108th Amendment Act, 2008
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54. WA TR A YA AT H A,

55.

56.

57.

fraferfn 3 & b o0 @ 31
[A] SIS

(B] Z13es fohmew (UK

[C] T T=A R (U.S.A)

(D] I & & HIS Tl

i wfu % fore 3TT=0e % aTa
TEy, GEg 1 2/3 TEHd °§ T &

fpet farwar o B SR % T Jferpa
T Tehdl 87

[A] 310G 249
[B] 3iF=eq 243
[C] FF=DG 259 g
[D] 3184 250

27

Eredd

e S o e IR 1 98 Seciid
% o o 3 A e act 1 et o
2T T @ 8 fehaT ST Hehell 87

[A] 3T=RT 39
[B] 3T<8% 38
[C] ¥T=BT 36
[D] 3T=RT 37

OO w2

fopg Geitem Sffem % 3faa, T
167 44 STeH gl it 37 sEgR

ST % e werafa # e gifed
IERIRIR I

(A] 759f Gees sfufEm, 1994
[B] 768 G U, 1994
[C] 77al GeYR AT, 1995
[D] 108df G¥New JffEm, 2008

———_
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58-

59.

60.

3B

which of the following st
are true about Telecorgn Rigﬁints
Authority of India (TRAI)? o

I. It was first established ip 1997
II. It is a statutory body. |

[II. It was established to
re
telecom services, incliulate

fixation/revising tariffs. ding

V. 5{?1 Iﬁllia;iquarters is located in
Select the correct answer -
[A] Only I, IIl and IV

[B] Only L, II and III

[C] Only II and III

[D] All of the above

Which of the following Committees
were appointed to inquire into the

working of Panchayati Raj
Institution in India? i
. L. M. Singhvi Committee i
II. G. V. K. Rao Committee O
II. Ashok Mehta Committee E

[V. Balwant Rai Mehta Committee
Select the correct answer :

[A] Only L, II and III

[B] Only III and IV

(C] Only II, III and IV

[D] All of the above

Which date is observed as the Good
Governance Day in India?

[A] 14th November
[B] 25th December
[C] 2nd October
[D] 1st May

i
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58.

59.

60.

B

e 1 & -2 P, R S R

WW(TRAI)%E&‘}H@%?
| g wevem 1997 H TG AT &Ml
11, g T A e B

-ﬂgﬁmaﬁﬂﬁm/@ﬁm“ﬁﬂ

Wmﬁﬁﬁrﬂaﬁﬂm%

g & 7 oAt

v, e geer g A R B

Tt I T =9 HIC :

[A] aa I, I 3R IV

(B] & I, I 37T I

[C] aa I 3 I

[D] 3T

i B TR O 6 FE 6
wte ¥ forg, Pefofen # @ ®H-H
wffoet Fres i TS o7

1. Tefo To férerel wfirfc

11, Sfto o o T WM

11, 3FTe el Hfd

IV, S 9 Sear affd

T IR H = HINT -

[A] e I, 11 3R 111

[B] e II 3R IV

[C] %aet II, TII 3R IV

[D] 37w @f

e § e Tt =t gumes feaw & &9
F TR AT R 7

[A] 14 TE=R

[B] 25 femmi

[C] 2 3RS

D] 178

11

[P.T.O.




61. Which among the following is not
true about the Comptroller and
Auditor General of India?

. The administrative expenses of
his office are subject to vote of
Parliament.

II. He is not eligible for further
office under the Government of

India or of any State after he
quits office.

Ill. The CAG can be removed from

office on the ground of proven
incapacity or misbehaviour
after an address by both the
houses of Parliament.

Select the correct answer :
[A] Only I

[B] Only II and III

[C] Only II

[D] Only I and III

62. Reasonable restrictions on

‘Exercise of Freedom of Speech and
Expression’ under Article 19(2) are
justified in the interest of which of
the following conditions?
I. Security of State
II. Defamation
III. Sedition
IV. Public order
Select .the correct answer :
[A] Only I and II
[B] Only II and III
[C] Only I, II and IV
[D] All of the above

18
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61. feidfad & @ HH-7/3 Fomm o
TETeEr e % AR g @8,
1. 37 HRITETE % Y @ gge %

Ha % arefH g

II. 3 9 H Blgd & ¥IC 98 WRq
HHR AT T & efi 377 S ge
TR % A T8 2

. §9¢ & & gedl # &mar 4
gelaER Aifed B9 % JMUR W &
s @ wEeEr-wles w5 39s
TS ¥ TR 1 Tl )

TE 3T T = HIR -
[ _@'[A] EE
=4 B] Feaer I 31 11
[C] A II
[D] haet 1 3R 111

o
N

. BT 19(2) * IAad, WY HR
FrfieafeR i wdear % TET W T
yioee, Fafafaa 4 @ fe ofRafy §
Sfaa gt <1 T 87

I UST <t geam

II. AR

1. TSR

IV. eI Saee
HE IW B 957 HfVT -
[A] %ad 13RI

[B] & II 3R 11
[C] a1, II 3R IV
[D] 3% wft

&« «O00O0
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63. Which Cornrnittee’s

64.

65.

66.

B

r
the way for the SDOrCthgaved
(Extension to Schedule reas)y :ts
(PESA) 1996 for enSUring tribay ct,
rule for people living ip Sch dself\
Areas of Indig? cduled

[A] Ashok Mehtgy Cornrnittee

[B] G. V. K. Rao Committee
[C] Bhuria Committee

Which areg Was  given the
maximum €mphasis in the Seconq
Five-Year Planp

[A] Agricultura] Sector

[B] Transport Sector

€] Industrial_ sector

[D] Poverty alleviation

Which Index is
basis for estim,
urban areas?

considered gg the
ation of poverty in

Al Consumer Price Ingey of
Agricultural Labours

[B] Wholesale Price Index

[C] Stock Index

[D] Consumer Price Index of
Industrial Workers (CPI-Iw)

India is the largest producer as
well as the largest consumer apd
importer of which of the following
Crops?

[A] Wheat
[B] Cotton
[C] Pulses

[D] Sugarcane

.
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63.

64.

s
et

65.

forar wfirfer < oot 3 s % argafa &t
H T Tt |t % fw st w-wmem
GRfera e & wexf & demera (s
&l 7% fere) arfrfem (PESA) 1996,
% fore wrt wereg R e

[A] IR Agan wiufy

[B] Sflo Tt oo Tar wffe

[C] e gfafa

[D] Sefad T Near affy

et verendter < 3, fv 8 % Rrerg
R i st fea wm ory

[A] B &=

[B] UiagT &

[A] ?ﬁﬂﬁaﬁwm@m
[B] % T whion

([C] SR i

[D] WWWWWW

[P.T.O.



67.

68.

69.

70.

Which of the following is not a cash
crop?

[A] Jute

[B] Millet

[C] Sugarcane

[D] Peanut

Which indices are the basis for
determining sustainable
development?

[A] Ecology

[B] Social and cultural

[C] Economic

[D] All of the above k
E13: 5]
In which year was Sustainable

Development Conference held in
Johannesburg?

[A] 1997
Iy
[B] 2002 .
[C] 2003 E]
[D] 2004 [
(W

What is sustainable development?
[A] Economic developniént
[B] Environmental development

[C] Social development

[D] All of the above
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67.

68.

69.

70.

foet § & H-T, The BES T R?

(A] S

[B] SOR

[C] T

{D] et

Taq fera & fafor 2g, 67 gaet =
TR ST ST 8 ?

[A] rfeferfsht

[B] @ 3R iwpis

[C] 3w |

[D] ST Wt

Seraet # Haq faem a@en fee o
ST BT &1 ?

[A] 1997

[B] 2002

[C] 2003

[D] 2004

Tad T w1 87
[A] S fompma
[B] watereiia faemm
[C] &R fererer
[D] 37 &t




. When did the term ‘s . .
27 . ! Development’ come intou:;izltgigég 71. WW’WW yfeqea o ST AT?
[A] 1980 [A] 1980
7
(5] 198 (B] 1987
(C] 1992
[C] 1992
(D] 1998
[D] 1998
2. When was the pr f N
il A reforms started igc?zziz?economm 72. 9RA A ngﬁmﬁ‘{[{?\ﬁ
D :
[A] 1990 0 Y
O Al 1990
(B] 1991 .
[C] 1993 ; [B] 1991
[D] 1994 _ 3 [C] 1993
E%E [D] 1994
73. Match List—I with List—II and ‘
elect the correct an ing th ;
2ode given below : @ 73. lﬁﬁ—lﬁ‘ﬁﬂ—nﬁﬁmaﬁ ﬁt:ﬁ%
e , fon 2 e # & TG IR F T B
List—I List—II
— —I1
(a) Price discrimination (i) Ragnar Nurkse Tﬁﬁ ! ‘Fﬁﬁ
(b) Land reform (i) Bretton Woods (@) 7 fosre U T T
(c) Vicious circle of (iii) Land monopoly (b) ’@ gar (ii) e ESS
RO (c) TS T gSeish (i) 9T TR
(d) 1L B.R.D. (iv) Land
consolidation (d) 3o ®lo 3o Blo  (iv) aiﬁq Tha<]
if Code : 7z :
| @ ® (0 (@ @ B © @
? A] @) () 6 6@ AAl @) @) @) (@)
B] @) (@ (v () Bl @ @ @ (@
€] @ @ 6 S
’ D] @) @) @ 6

D] v @@ @
3-B : )

21 [P.T.O.
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74. Whatdo we call the distance 74. w@fy q@ll & & AT Tl & g H

Esg‘gigsnsions tc‘:; Oa souilodn\ir:\:rg';we @ 1 &
[A] Wave number [A] o T
[B] Frequency [B] I
[C] Wavelength [C] wes
[D] Amplitude [D] ™
75. g;l’gi;:kl;logf the following is a cause 75. frm & § wireafy &1 HR0 F1R? |
[A] Absorption of sound (] S |
[B] Transmission of sound h [B) S 1 T
[C] Reflection of sound : [c] = 1 ’ ‘
[D] Refraction of sound % [D] & S ' I
tl |
76. Light year is a unit of = 76. TR T 35T &
[A] distance (Al @Tﬂ
[B] time [B] 94 =kl
[C] energy o [C] Fall T
[D] intensity of light %% (D] rehTer Y et 1
77. Which of the following cannot travel 77. T e SE, Fela T @ a8 e
in vacuum? :
[A] Light [A] =TT
[B] Heat [B] S
[C] Sound | [C] =i
[D] Electromagnetic waves (D] ﬁﬂﬂww

78. - The process of superposition of any 78. s (feA) o W Tt GEFIT *

information on radiowaves is AR i WRRAT T A B

named as . X
s [A] grEfRE '

[A] transmission . A

[B] modulation [,B] L EHH

[C] demodulation (€] WW

[D] reception. ~ [D] TEwm

3-B 22



79.

80.

81.

82.

3-B

Angora wool ig ¢
which of the follo XtraCt-ed fro

Wing aNimalgp "

[A] Sheep
[B] Goat
[C] Rabbit
[D] Fox

Which of the foll

owi i
about RAM? Wing is not true

[A] RAMis g temporary Storage areg
[B] RAM is like g hard disc storage
[C] RAM is volatile memory

[D] Information stored in RAM is

gone when the computer j
turned off S

Us‘ing Webs.ites to pour out one’s
grievances is called
[A] Web plea

tB] Web hate

[C] Cyber ranting

[D] Cyber venting

%&g OCCoow » e

Which part of Central Proce
Unit (CPU) performs calculations
and makes decisions?

[A] Alternate Local Unit

[B] American Logic Unit

[C] Alternatiﬁg Logic Unit

[D] Arithmetic Logic Unit

23

79. T Y fpm g @ 3R A TTH Y S
B?

(a] ¥g

(B] st
[C] T
[D]

80. RAMS R & fret § @ H-T1 B @i 27

[B] RAM Us hard disc storage E3
TE B

{C] RAM T Srwiiet Be 2
(D] RAM # wveria geAm, Fel &
3 BH W 35 S 8

81. fordfl i RrmEl = =k H1 % fou

YTETEET T AT HEA &
[A] 9 wfi

[B] & e

[C] e Tt

[D] ®Ee Sifem

82. U WARF IFe (CPU) 1 -1 3T,

T ST B T ey ¥ R
[A] Alternate Local Unit
[B] American Logic Unit
[C] Alternating Logic Unit
[D] Arithmetic Logic Unit

N

[P.T.O.




83.

84,

85.

86.

87.

—

ICAR Day is celebrated on
[A] 23rd December

[B] 16th July

[C] 22nd April

[D] 23rd November

Global Gene Bank of rice is situated
at

[A] Philippines

[B] Pusa, New Delhi
[C] Cuttack

[D] Hyderabad

Sugarcane is a

[A] short day plant
[B] long day plant
[C] day neutral plant

[D] photo insensitive plant

How many chromosomes are found
in the endosperm of maize?

[A] 20
[B] 30
[C] 40
[D] 23

Which of the following genomic
conditions is found in commercial

edible wheat?

[A] AB genome
[B] ABC genome
[C] ABCD genome
[D] ABD genome

83.

84.

4o« O00O0O0
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85.

86.

[ CRF

31T Hlo To Ao TEaTH H TN STy 3§,

[A] 23 feamr

(B] 169

[C] 22 3

[D] 23 TaF

e 1 afgaeh S o fua &
[A] fefidia o

(B) o, 7 faech F

[c] Feh

[D] ¥eUaTg |

LEIR

[A] =0 Sftenrer w1 W

[B] 3iferes iftrehrefi den

[C] Serefm dftrpref e

[D] it % wfd g @

T o YOI B feha TUrE U S 7

[A] 20

[B] 30
[C] 40

(D] 23

. ST R A g, R Y

-t Sfifires feufe i wmeht 27

[A] AB Sfim ,
[B] ABc§ﬁ:hn

[C] ABCD S

[D] ABD S|



Alkaline soils can be improved

88.

D
:
O
:
0

[A] by the use of lime

[B] by the use of gypsum

[C] by the use of saline water
[D] None of the above

Which of the following signifies the
Lota Pahar?

8

[A] Centre of the Revolt of Tilka
Manjhi

[B] Centre of the Stone Age of
primitive people
£t

ﬁé[cl A major centre of the 1857
Sepoy Struggle

CIAD)

[D] A major centre of the Kol
Uprising

90. Which elephant of the Chhota
Nagpur Raj has been mentioned in
Jahangirmama?

[A] Moti Chandra
[B] Sharat Chandra
[C] Nagpuri Pitho

[D] Shyam Chandra

91. Rohini, one of the major centres of

1857 uprisings, is located today in
which_ district?

[A] Godda

[B] Jamtara

[C]. Deoghar

[D] Dumka

25

88.

89.

90.

91.

W’{ﬁ’ﬁﬁ?‘mmmg

(A] T 3 AT
[Blﬁw%sﬂﬂﬂﬁm

(c) @it e 3 S A

(D] ST & & FE T

Frifere 7 @ iier TES A TS T
w1 R?

(a] i i % e 1

(B] SR e SrfeATE BT B

[C] 1857 3 RTéh T T T TS FR

(D] Wi RRE T 5T F5

et 3 e T < fohw greft

%1 Ieord TehaT T 2 7

[A] TR =%

[B] YRC ¥

[C] 7FTgd foat

[D] ™ =
1857 I shif=rshrdl e <1 wgw
Ufeoft, st fope ot & fr 27

[A] g |

[B] STHeTST

[C] =R

[D] gHehT

| PRGO:



92. Who is the most important God of 92. YU mﬁ%mmmiﬁqﬁ? ‘
the Santhal Tribe? .

[A] Marang Buru A W ﬁf

[B] Marang Manjhi g [B] w HiEh

[C] Moreko Turiko 8 [C] ‘ﬂm@m

[D] Thakur Deo ? I I o
93. In which town was the Rajkumari m93- TEHIR F3 A, 1895 form Wt #

Leper Asylum, 1895 established? g far mam an?

[A] Deoghar N [f\] m

[B] Ranchi (B] e

[C] Daltonganj %@é ] ——

[D] Hazaribagh (=T -

|

o ?oyrrvlvrrlﬁfrlllltt; Teior todl ebljilr I‘Sil;;? 04. few @i T, VoA & WS ERT A |

than the Panchayat? FT hEdl &7 -

[A] Parha [A] W&

[B] Chira (8] ST

[C] Para (C] T

[D] Bara Jutan (D] e 9

95. Who among the following was

considered as the head of the 9S. ﬁmﬁ]ﬁgﬁﬁﬁaﬁ:{, Mmﬂﬁﬁﬁ

village? 7
[A] Khuntkatti Raiyat [A] Wi-qa
[B] Jeth Raiyat (B] 93 tud
[C] Asami [C] IEw
[D] Bhogta : (D] S
96. rgl:;célrtlo and Bidadiri’ rituals are 96. MR T Rkl FER 'ﬂ'é 3

[A] Santhal matrimony [A] ¥uw T &
[B] Oraon birth cérémony [B] T S=7ewd &
[C] Munda last rites [C] §eT 3icafe &
[D] Oraon last rites . [D] I aﬁﬁg

3-B ' 26
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W OSSNl A% me el d

97' In WhiCh Year was e
[A] 1871
[A] 1871
[B] 1885
[C] 1904 [B] 1885
[D] 1915 [C] 1904
5 [D] 1915
98. ’.l‘h_e fatr}xliouf pilgrim centre Parasnath
1S In the closest proxim; i : ‘
of the following? volwhich | o i, et e, fifen 3 @ fred)
0
[A] Isri O T §7
a
[B] Dumri T (A} 3E0
v
C] Madhub
1] Madtuban e g
[D] Kakolat
[C] AY=H
99. Which of the following pairs is not ESE  [D] eblerd
correctly matched? ﬁ".ﬁs
Day Date 99, fimifen & & H-1 gw, W gARew
[A] World T e
Environment
Day — 5th June ﬁa’g ﬁ?
. [B] World Earth [A] fova amer fRew — s
Day — 22nd April ,
[C] World _aibal =, SO
Homeopathy [C] Tava gmadeft Rem — 129
Day —12th March ’
[D] International [D] & S ;l T 3 femr  — .21 SO
Day of Yoga — 21st June - ‘
| 100. 2023 % f5a T~ 3 g 3 w1 Fisn
100. Which of the following States has ey femam R7
launched the scheme ‘Learn and .
Earn’ in 2023? [A] SR Yex
A] Uttar Pradesh '
iy T [B] wex R
[B] Madhya Pradesh s
[C] Rajasthan - (€] '
[D] Haryana. . [D] &t
3-B 27 [P.T.0.



